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1. An atom of element A has mass number 39 and 19 protons.

(a)  Write the electron arrangement of the atom. (1 mark

(b)  State the period and group to which element A belongs.
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(c)  State whether the element is a metal or a non-metal. (1 mark’

2 Describe how an increase in concentration increases the rate of a reaction (2 marks)
3. The flow chart in Figure 1 represents some stages in the extraction of copper metal. Study it and

answer the questions that follow.

Copper ore Crush | Fine copper Process Concentrated
PP ore powder B copper ore
Roast in air
Solid C Cu,S, FeO Silicon(IV)
J/— and SO, oxide
Slag

Figure 1
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7 (a)  Identify:
(1) F16 COPPET OLE vvvesnaesssssssmssessasssssssssstsssssssssssmssssasiass st (1 mark)
() PIOCESS B woouueuususssssssmssssmsmmmsssssssmsisssss s (V% mark)
() SOHA € ooverermmmmssssssssssessmssmssssssssssssmsmssm (5 mark)
(b)  Write an equation for the reaction that forms the slag. (1 mark)
4. A monomer has the following structure.
CH=CH,
e,

(a)  Draw the structure of its polymer that contains three monomers. (1 mark)
| (b) A sample of the polymer formed from the monomer has a molecular mass of 4992.

T
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Determine the number of monomers that formed the polymer (C=12; H=1 .0).
(2 marks)
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28.  Draw in the space
electrolyse molten

16

provided a labelled diagram of the set-
lead(II) bromide.

up of the apparatus that can be used t

(3 marks
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